
#10-32 HEX NUT

NT713

FRONT

BACK

PHILLIPS PAN HEAD MACHINE SCREWS
Serviced By:
319 Cooke Street, Plainville CT 06062

1-800-624-6735 www.robrandproducts.com

#8-32 X 1/2

PPM141

#6-32 X 1

PPM132

#6-32 X 3/4

PPM130

#6-32 X 1/2

PPM128

#8-32 X 3/4

PPM143

#8-32 X 1

PPM145

#10-32 X 1/2

PPM154

#10-32 X 3/4

PPM156

#10-24 X 1/2

PPM165

#10-24 X 1-1/2

PPM171

#10-24 X 1-1/4

PPM170

#10-24 X 1

PPM169

#10-24 X 3/4

PPM167

#10-32 X 1-1/2

PPM160

#10-32 X 1-1/4

PPM159

#10-32 X 1

PPM158

#12-24 X 1-1/2

PPM190

#12-24 X 1

PPM189

#12-24 X 1/2

PPM183

#6 FLAT WASHER

FLW204
#6-32 HEX NUT

NT708

#12 FLAT WASHER

FLW207
#12-24 HEX NUT

NT715
#10 FLAT WASHER

FLW206
#10-24 HEX NUT

NT711

#8-32 HEX NUT

NT709

#8 FLAT WASHER

FLW205


